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O030p nIpeabIAyIen JeKIUU

KpuBbie 00yueHUA
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HenuneliHoe mpeoOpa3oBaHuie

Each z; = ¢;(x) z = P(x)

Example: z = (1, zy1, 9, 129, fl?%a :1:%)

Final hypothesis g(x) in X space:

sign (W' d(x)) or w' O(x)




[leHa, KOTOPYIO MBI IIJIATUM 32 HEJIMHENHOE
1IpeoOpa3oBaHUe




JIBa TMHEHO HEPA3AEeINMbIX CITydas




IlepBBIU coryuau
JIBa crmocoba pereHus:

1) Mcniosrb30BaTh JIMHENHYIO Mojieab AJisd Ein>0
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IlepeiiTu K mpeobpa30BaHUIO




Jlorucruueckaa perpeccus
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JIlngendbie MOIe 1N

linear classification linear regression logistic regression

h(x) = sign(s) hix) = s h(x) = 6(s)
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Jlorucrnueckasa QPyHKIIUA




JlanHble (X,y), rae y OuHapHas QyHKIU,
TeHEPUPYIOTCA «IIyMHON» [[D

. (f'X for y = +1:
i X) :4_( ), 4 |
\l — f(x) fory= —1.

Oynkmua f : R — [0.1] - BEpOSTHOCTB

l3yuaem g(x) = (W' x) = F(x)



Mepa o1mnbku. MeTo; MaKCUMaJIbHOTO
IIPaB/IOIIOI00M A

1
h(x) iR 1
1—h(x) fory=—1.

Py | x) = 0(y w'x)

[IpaBmomomodue D = (X1.41),....(Xy.yy) OIPEHEsieTcs

N N
H P(yn | Xn) = H 0(ynW ' Xn)




MakcuMu3upyeM IIpaBaonoao0ue
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Ba(w) =— E In(14 e ¥V Xn
N n=1 \(_(h(\/)y)—)/

® «KpOCC-2HTPOIIUNHAA» OIINOKA




Kak MuHUMU3UPOBATh Ein?
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Kaxk BpIOpaTh HampasjeHue V

______________________________________________________________ @

aE, = E,(w(0)+nv) — E,(w(0))

= VE,(w(0))'V + O(n’)

> —n||VE,(w(0))||

A VEin(W(O)) |

Vv

— [VE.W(w(0))]



Kakag mjauna mara?

large 1

In-sample Error, Ei,
In-sample Error, Ei,
In-sample Error, E;,

Weights, w Weights, w Weights, w

1 too small n too large variable 1 — just right




IIpocToe npuMeHeHue
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Aw = nv

O IVEL(w(0)]




AJITOPUTM JIOTHCTUYECKOU PETrPECCUU

. Initialize the weights at t =0 to w(0)
sford =0, 1.2 ...do
;. Compute the gradient
N
1 YnXn

VEin — —N — 1_|_eanT(t)Xn

07

Update the weights: w(t + 1) = w(t) — nV Ei,
. |terate to the next step until it is time to stop
s. Return the final weights w

—




O030p JMHENHBIX MOJiesiel
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Approve Classification Error
or Deny Perceptron PLA, Pocket,. ..

Credit Amount Squar
: . . juared Errvor
Ana.lySIS of Credit Lincar Reg_ressn_on Psendo-inverse

Probability

e 2 Cross-entropy Error
of Default Logistic Regression Gradient descent




Hcnmoapr30BaHHBIE UCTOUHUKU

® Yaser Abu Mostafa “Learning from Data:
Introductory Machine Learning Course”, CalTech
University, 2012 . -
https://www.youtube.com/playlist?list=PL.nIDYu
XHKit4L.cWijDeoEWIE57WiGIBs08




